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QUESTION 1

While working on the configuration of your client, you uncover that the ASNs will always have the correct serial number
information interfaced upfront and your client trusts the ASN information. Your client also needs the serial number
information to get into WMS Cloud when the items are received from POs. Which three actions do you need to take,
assuming that item A is serial-tracked? (Choose three.) 

A. Set item A\\'s require serial number parameter to "Required, validate and allow user override". 

B. Create the IB Container barcode type. 

C. Create the Serial Number barcode type. 

D. Set the company parameter SERIAL_NUMBER_TRACKING_LEVEL TO 2. 

E. Set item A\\'s require serial number parameter to "Required, don\\'t Validate". 

Correct Answer: ABD 

 

QUESTION 2

Your company has two facilities, one in California, and the other in New Jersey. The California facility needs to
exclusively check the quality of each item on receiving whereas the New Jersey one need to exclusively perform Value-
Added Service (VAS) on each unit during receiving and shipping. Identify the Location Types that are required to be
defined in the Oracle WMS Cloud to receive the items at the California Facility. 

A. Reserve and VAS 

B. Active and VAS 

C. Reserve and QC 

D. Active and Reserve 

Correct Answer: D 

 

QUESTION 3

You want to wave three orders. Two orders had the same route number in the order header, and the other order didn\\'t
have a route number. You want to make sure the orders are assigned to the same load. What should you do or check? 

A. Change company parameter WAVE_ASSIGN_LOAD to One load per wave 

B. Change the Task selection criteria to be configured to assign by load. 

C. Add another route number to the third order. As long as they are waved together, they will be assigned to the same
load. 

D. If they all have the same "Ship to Name" and "Ship to Address 1", they will be assigned to the same load. 

Correct Answer: A 
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QUESTION 4

A warehouse manager needs to view additional information not available in the existing Picking 

applications. 

Identify two ways to fulfill this requirement. (Choose two.) 

A. Create a custom WMS BI Cloud showing the information. 

B. Access data through SQL. 

C. Modify the base application to display additional information. 

D. Use a base WMS BI Cloud showing the needed information. 

Correct Answer: AC 

 

QUESTION 5

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.) 

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order. 

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location. 

C. A received IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time. 

D. A batch number in the Batch Management UI has to be always linked to an expiry date. 

Correct Answer: AD  
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